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# 1 || -

Fig. 1 A& &I ME X (Diagram of centrfugal blower test cell)

(2) AEEX At
(D Fan : Centrifugal Fan, Axial Fan, Siricco Fan
a. Flow rate : Max. 12 m?®/min
b. Delivery pressure : Max. 50mm  H 0
c. RP.M. : 580 = 1750 rpm

@ Motor : O.75KW , AC 220 V , 60 Hz , 3 Phase
® Air duct : Dia. 100 A

@ AIR Flow Control : Throttle valve setting

(® AIR Flow Rate Device : Nozzle , Orifice

(® Measuring instrument : Tachometer, A. V. Meter,

Multinanometer, W —meter

(3) gy
)75 Watg 2
D $%718 FEANG @3 AR FE 4574 53] o)
@ 9ok gl g H4 GRS T ol§)
® A5de S99
® HA5E P,

4 M & ‘14-4 AakS %Xé S}, (DamperS 3uHA4 Eo] dojFt})



4 A8l DATA AHM2IAE (Sample)

D FF719 ALPs) = p, <X gxh = 1000kg/m* x9.81m/s* X 0.012m = 117.72 Pa

@ Orifice®] 82t = p, X gxh = 1000kg/m* x 9.81m/s* X 0.01m = 98.1 Pa

v Q)
AR 2x9.81m/s?x98.1N/m?
= C A, 9730” = O.608><% x0.04 2m? 1.2255:;%/417134
1= (pD 1_(m)

3
@ 9EY ] §2(V) = % = 0.03059m°/sec = 3.466m/sec

%x 0.1062m>

2 3 2 2/ 2
— 1. x 3.4
@ /g _u_7‘|‘04 5;0 ?:]L(Pd) = Duir > Ig _ 225kg/m . 3.466"m /S — 7.36 Pa

® %719 HeHPt) = Ps + Pd = 117.72 + 7.36 = 125.08 Pa

- QX P, 0.03059m°/s < 125.08 N/m?
Iy =d = g = 0.
@ &71s4 1000 1000 0.00383 kw

= o _ &71%9 (kw) ~0.00383
a5 = TETE () X100 = 0.6

X100 = 1.47%
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